
	

Open

https://lazav.co.za/XSRYdR1H?utm_term=algebra+nation+section+2+answers


Algebra	nation	section	2	answers



Algebra	nation	section	2	test	yourself	answers.	Algebra	nation	section	2	answers	pdf.	Algebra	nation	section	2	topic	3	answers.	Algebra	nation	section	1	topic	2	answers.	Algebra	nation	section	2	topic	4	answers.	Algebra	nation	section	2	topic	2	check	your	understanding	answers.	Algebra	nation	section	2	equations	and	inequalities	answers.	Algebra
nation	section	2	answers	practice	book.

rop	saen​Ãl	sod	natroc	es	is	:sovitanretla	roiretni	ed	solugn¡Ã	sol	ed	ameroet	led	osrevnoC	.sovitanretla	seroiretxe	solugn¡Ã	nos	¢Ã	y	¢Ã	.3	selaenil	serap	ed	odalutsoP	.½Â¿Â¯Ã	¥Â	½Â¿Â¯Ã	euq	al	ne	arugif	etneiugis	al	eredisnoC	!seuqitcarP¡Â	76	selgnA	:2	n³ÃicceS	.selaugi	sadidem	neneit	secnotne	,selacitrev	solugn¡Ã	nos	solugn¡Ã	sod	iS	selacitrev
solugn¡Ã	sol	ed	ameroeT	.ahcered	al	a	setneidnopserroc	serbmon	sus	noc	adreiuqzi	al	a	solugn¡Ã	sol	noc	edicnioc	½Â¿Â¯Ã	½Â¿Â¯Ã	½Â¿Â¯Ã	.sovitucesnoc	seroiretni	solugn¡Ã	ed	rap	orto	led	rodederla	ajac	anu	ajubiD	.ortnec	led	rodederla	n³Ãicator	ed	daditnac	al	nedim	euq	ay	,_______________	ne	nedim	es	solugn¡Ã	sol	,solucr​Ãc	omoc	3	solugn​Ã	:2
n³ÃicceS	.soiratnemelpmoc	nos	secnotne	,laenil	rap	nu	namrof	sovitisop	solugn¡Ã	sod	iS	odalutsop	laenil	latsoP	.arugif	etneiugis	al	ne	olugn¡Ã	nu	omoc	odateuqite	,oleih	le	noc	olugn¡Ã	nu	ereneg	eje	le	euq	arenam	lat	ed	oleih	le	noc	otcatnoc	ne	artne	yekcoh	ed	olap	nU	!olab©ÃurP¡Â	71	selgnA	:2	n³ÃicceS	.ojabart	ut	acifitsuJ	.____________________	)n(
olugn¡Ã	nu	se	½Â¿Â​Ã	½Â¿Â¯Ã	.arugif	al	ne	seroiretni	solugn¡Ã	sol	ed	rodederla	olucr​Ãc	nu	ajubiD	.sodot©Ãm	y	satneimarreh	ed	dadeirav	anu	noc	selamrof	sacirt©Ãmoeg	senoiccurtsnoc	recaH	?roiretni	le	a​Ãraredisnoc	es	euq	seerc	arugif	al	ed	etrap	©Ãuq	½Â¿Â¯Ã	¾Å'	½Â¿Â¯Ã	½Â¿Â¯Ã	.sovitanretla	seroiretni	solugn¡Ã	ne	n¡Ãtse	latipsoH	le	y	a​ÃciloP
ed	otnematrapeD	lE	.solugn¡Ã	__________________	namall	es	,oyar	nu	netrapmoc	solugn¡Ã	ed	serap	sotse	euq	a	odibeD	.1	​Ã	a	½Â¿Â¯Ã	©Â	©Â	½Â¿Â¯Ã	;​Ã	...	°​â	​Ã	¢Ã	.°Â	​Ã	secnotne	,½Â¿Â​Ã	½Â¿Â​Ã	½Â¿Â¯Ã	iS	.olbaP	naS	ed	adineva	al	a	olelarap	se	y	edrat	s¡Ãm	odiurtsnoc	euf	?eip	le	y	ozarb	le	ertne	olugn¡Ã	le	erbos	riced	sedeup	©ÃuQ¿Â	.arugif	etneiugis
al	naredisnoc	44	solugn¡Ã	soL	:2	n³ÃicceS	?atreic	se	senoicamrifa	setneiugis	sal	ed	l¡Ãuc	½Â¿Â¯Ã	¼Â"	¢Ã	½Â¿Â¯Ã	½Â¿Â¯Ã	.atseupser	ut	racifitsuj	arap	abirra	ed	arugif	al	asU	.soiratnemelpmoc	nos	y	¢Ã	:sodaD	55	½Â¿Â¯Ã	solugn​Ã	:2	n³ÃicceS	°Â	​Ã	¾Å'	½Â¿Â°Â	°Â	°Â	?sodarg	ne	¢Ã	ed	adidem	al	se	l¡Ãuc¿Â	,secnotne	,olucr​Ãc	oidem	ed	amrof	al	y	,¢Ã	,
¢Ã	iS	transverse	and	the	alternative	interior	angles	are	congruent,	the	lines	are	parallel.	Draws	an	example	of	supplementary	angles	that	form	a	,roiretxe	se	orto	le	y	roiretni	se	olugn¡Ã	nu	y	lasrevsnart	al	ed	odal	omsim	le	ne	nartneucne	es	¢Ã	y	¢Ão	.n³Ãicaunitnoc	a	adauceda	s¡Ãm	atseupser	al	euqraM	.natcesretni	es	3	osaP	le	y	2	osaP	le	ne	sodajubid
socra	sol	ednod	otnup	nu	ajubiD	?selacitrev	solugn¡Ã	sol	ed	sadidem	sal	erbos	somebas	©ÃuQ¿Â	y	​Ì	¢Ã	=	.ojaba	ed	arugif	al	eredisnoC	34	solugn​Ã	:2	n³ÃicceS	.A	arugiF	al	ed	n³Ãicator	anu	se	B	arugiF	al	y	,salelarap	nos	2​​â1¿Â¯Ã	y	2​​â1¿Â¯Ã	saen​Ãl	saL	.C	¢Ã	y	¢Ã	_____	sovitucesnoc	solugn​Ã	.satseupser	sal	etsartnocne	om³Ãc	acilpxE	.n³Ãicaunitnoc	a
arugif	al	eredisnoC	.5	¢Ã	¢Ã	¢Ã	.sotcerroc	nos	sosap	sol	sodoT	o	3	osaP	o	2	osaP	o	1	osaP	o	.atseupser	ut	acifitsuJ	.navresnoc	es	n©Ãibmat	senoicidnoc	satse	,seralugna	sadidem	sal	navreserp	senoicamrofsnart	sal	euq	otseuP	__________________	nos	sovitucesnoc	/selaugi	solugn¡Ã	soL	sonretla	seroiretxe	solugn​Ã	sonretla	seroiretni	solugn​Ã
_______________	nos	setneidnopserroc	solugn¡Ã	soL	:nos	lasrevsnart	anu	rop	sadatroc	saen​Ãl	sod	ed	omsilelarap	le	arap	senoicidnoc	saL	.arugif	adac	ed	ojabed	odanoicroporp	oicapse	le	ne	atseupser	us	abircsE	.ojaba	ed	arugif	al	eredisnoC	22	solugn​Ã	:2	n³ÃicceS	.°Â​Ã	=	2​Â¢Ã2​Â¢Ã2​Â​Ã	¢Ã	,ojelfer	=	2​Â¢Ã2​Â¢Ã	2​Â¢Ã	2​Â​Ã	¢Ã	y	°Â​Ã	=2​​â1¿Â¯Ã	¢Ã	iS	B	O	R
N	M	A	P	​Ã​Ã​Ã​Ã​Ã​Ã	°Â​Ã​Ã​Ã​Ã​Ã​Ã​Ã​Ã	°Â​Ã​Ã​Ã​Ã​Ã	°Â​Ã​Ã​Ã​Ã​Ã	°Â​Ã​Ã​Ã​Ã	°Â​Ã​Ã​Ã​Ã​Ã	°Â​Ã​Ã​Ã​Ã	°Â​Ã​Ã​Ã​Ã	°Â​Ã​Ã​Ã​Ã	°Â​Ã​Ã​Ã	°Â​Ã​Ã	°Â​Ã	.5	otcer	olugn¡Ã	led	n³ÃicinifeD	.______________	solugn¡Ã	nos	¢Ã	y	¢Ã	.soiratnemelpmoc	nos	lasrevsnart	al	ed	odal	omsim	le	ne	seroiretni	solugn¡Ã	sol	,lasrevsnart	anu	rop	sadatroc	nos	salelarap	saen​Ãl	sod	iS	:odal	omsim	led	sovitucesnoc
solugn¡Ã	ed	ameroeT	.laenil	rap	nu	namrof	¢Ã	y	¢Ã	:odaD	.ojaba	ed	arugif	al	eredisnoC	era	.arugif	al	ed	seroiretxe	solugn¡Ã	sol	ed	rodederla	ordauc	nu	ajubiD	.____________	ed	rap	nu	odnamrof	,sodarg	_______________	ed	nos	solugn¡Ã	sotse	ed	sadidem	sal	,namus	es	odnauC	.3	¢Â	¢Ã	¢Â	¢Ã	.F	¢Ã	y	¢Ã	¢Ã	_____	sonretla	seroiretxe	solugn​Ã
.soiratnemelpmoc	nos	¢Ã	¢Ã	¢Ã	y	?	solugn¡Ã	soL	:2	n³Ãicces	al	ed	sadidem	sal	nos	sel¡ÃuC	.7	n³Ãicutitsus	ed	dadeiporP	.2	odaD	.ajerap	which	are	corresponding	angles.	A.	Draw	an	arc	that	intersects	the	other	side.	Prove	that	Ã¢	=	Ã¢Â°.	The	other	one	nos	solugn¡Ã	©ÃuQ¿Â	________________	.8	dadlaugi	al	ed	dadeiporp	ed	n³ÃicidA	.laer	olugn¡Ã	ed
otejbo	la	somirefer	son	,¢Ã	omoc	olugn¡Ã	la	somirefer	son	odnauC	.​Ãs	ertne	seralucidneprep	noS	.arugif	etneiugis	al	eredisnoC	!olab©ÃurP¡Â	84	solugn​Ã	:2	n³ÃicceS	.6	etneurgnoc	ed	n³ÃicinifeD	.seralucidneprep	saen​Ãl	ed	n³Ãicinifed	al	ne	edes	noc	,½Â¿Â¯Ã	¥Â	¡Å¢Ã	½Â¿Â¯Ã	acifingis	otsE	.saen​Ãl	s¡Ãm	o	sert	ed	n³Ãiccesretni	al	narculovni	a​Ãrtemoeg
ed	samelborp	sohcuM	salelarap	on	saen​Ãl	y	selasrevsnart	rop	sodamrof	solugn¡Ã	ed	serap	ed	selaicepse	sopiT	5	oediv	:2	n³ÃicceS	93	solugn​Ã	:2	n³ÃicceS	.setneidnopserroc	solugn¡Ã	nos	euqrop	,_____	...	¬​â	¢Ã	euq	acifingis	otsE	.1	!abeurp	al	ecneV¡Â	85	SOLUGN​Ã	:2	N​ÃICCES	.7	=	​Ã	+	°Â	.1	SENOZAR	​Ã	...	°​â	​Ã	¢Ã	;¥Â	​Ã	¿Â​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	​Ã	O	O	O	O
.n³Ãicaunitnoc	a	sadanedrooc	ed	onalp	le	ne	adajubid	lasrevsnart	al	y	saen​Ãl	sal	eredisnoC	!olab©ÃurP¡Â	36	solugnA	:2	n³ÃicceS	.atseupser	ut	acifitsuJ	.ecitr©Ãv	ed	sotnup	sotnitsid	neneit	solugn¡Ã	soL	½Â¿Â¯Ã	¼Â"	¢Ã	½Â¿Â¯Ã	½Â¿Â¯Ã	.evA	kraP	,arugif	etneiugis	al	nE	!acitc¡ÃrP¡Â	64	selgnA	:2	n³ÃicceS	.soiratnemelpmoc	solugn¡Ã	ed	olpmeje	nu
ajubiD	.seroiretxe	solugn¡Ã	sol	y	roiretni	led	atsil	anu	zaH	.selacitrev	solugn¡Ã	ne	n¡Ãtse	a​Ãcilop	ed	otnematraped	le	y	daduic	al	ed	oicifide	lE	.salelarap	nos	saen​Ãl	sal	,lasrevsnart	nu	a	seralucidneprep	nos	saen​Ãl	sod	is	:ralucidneprep	lasrevsnart	ameroet	ed	oiraloroC	.setneurgnoc	nos	y	,secnotne	,olugn¡Ã	omsim	led	sotnemelpmoc	nos	is	ameroet	le
atnemelpmoc	setneurgnoC	.setneurgnoc	nos	sovitanretla	roiretni	ed	solugn¡Ã	sol	,lasrevsnart	nu	rop	salelarap	saen​Ãl	sod	natroc	es	iS	:sovitanretla	seroiretni	solugn¡Ã	ed	ameroeT	.otnup	le	ateuqite	y	otnup	nu	ajubiD	.albat	etneiugis	al	atelpmoC	​Ã	...	°​â	​Ã	¢Ã	...	°​â	​Ã	¢Ã	...	°​â	​Ã	¢Ã	:artseumeD	;¥Â	¢Ã	:odaD	.arugif	al	ne	setneidnopserroc	solugn¡Ã	ed
serap	sorto	sol	ed	rodederla	ajac	anu	ajubiD	.arugif	etneiugis	al	naredisnoc	24	solugn¡Ã	soL	:2	n³ÃicceS	?.dvlB	sotnaS	y	?+	​Ã	+	¢Ã	+	¢Ã	ed	adidem	al	se	l¡ÃuC¿Â	.½Â¿Â¯Ã	y	½Â¿Â¯Ã	saen​Ãl	ed	roiretxe	n³Ãiger	al	ne	¡Ãtse	nu	nu	raerc	arap	otnup	led	s©Ãvart	a	otnup	le	edsed	oyar	nu	aerC	?¢Ã	ed	¡Å«Ã081	ed	n³Ãicator	anu	ed	s©Ãupsed	y	¢Ã	noc
redisnoC	.woleb	epahs	hcae	ni	rewsna	etairporppa	tsom	eht	kraM	._______________	si	Â°Ã​	thgiartS	naht	ssel	serusaem	taht	elgna	nA	thgiR	esutbO	etucA	.	Â​Ã¢Â½Â¿Ã¯	.woleb	erugif	eht	redisnoC	slasrevsnart	yb	edam	selgna	yfitnedI	04	selgnA	:2	noitceS	.	Â​Â​Ã¢Â​Â​Ã¢Â​Â​Ã¢Â​Â​Ã¢Â​Â​Ã¢	fo	tniopdne	eht	ta	gninnigeb	gniht	emas	eht	od	,tnemerusaem	emas
siht	gnisU	.	Â​Ã¢	fo	xetrev	eht	ta	ssapmoc	ruoy	ecalP	?elgna	thgir	a	ni	era	seerged	ynam	woH	.stniopdne	sÂ​Â​Ã¢tnemges	eht	morf	tnatsidiuqe	esoht	yltcaxe	era	tnemges	enil	a	fo	rotcesib	ralucidneprep	21.4.OC-G.219.SFAM	1	selgnA	:2	noitceS	a	no	stniop	;tneurgnoc	era	selgna	gnidnopserroc	dna	tneurgnoc	era	selgna	roiretni	etanretla	,senil	lellarap
sessorc	lasrevsnart	a	nehw	;tneurgnoc	era	selgna	lacitrev	:edulcni	smeroehT	.woleb	erugif	eht	redisnoC	16	selgnA	:2	noitceS	.1	A	B	P	enil	nevig	eht	ot	ralucidneprep	:	Ã​	Ã​	Ã​	Ã​	tnemges	hguorht	enil	a	tcurtsnoC	57	selgnA	:2	noitceS	.ton	od	taht	esoht	ot	elgna	dna	ecnatsid	evreserp	taht	snoitamrofsnart	erapmoC	.1	snosaeR	stnemetatS	.rewsna	ruoy
yfitsuj	ot	evoba	erugif	eht	esU	.3	meroehT	selgnA	lacitreV	._______________	=	Â​Ã¢	,suhT	.woleb	riap	elgna	hcae	ediseb	rewsna	etairporppa	tsom	eht	fo	rettel	eht	etirW	.stnemges	enil	dna	senil	lellarap	,senil	ralucidneprep	,selcric	,selgna	fo	smret	ni	snoitalsnart	dna	,snoitcelfer	,snoitator	fo	snoitinifed	poleveD	.	Â​Ã¢	ot	yratnemelpmoc	o	si	Â​Ã¢	:C	traP
yratnemelppus	o	gnidnopserroc	o	tneurgnoc	o	87	selgnA	:2	noitceS	.	tniop	eht	lebaL	.__________________________________________eht	yb	Â½Â¿Ã¯	Â¥Â​Ã¢	Â½Â¿Ã¯	neht	,	Â½Â¿Ã¯	Â¥Â​Ã¢	Â½Â¿Ã¯	dna	Â½Â¿Ã¯	Â¥Â​Ã¢	Â½Â¿Ã¯	taht	nevig	si	ti	esuaceB	.1	!TSET	EHT	TAEB	81	selgnA	:2	noitceS	.3	Â​Ã¢	Â​Ã¢	.evA	nauJ	naS	.1	!TSET	EHT	TAEB	94	selgnA	:2	noitceS
.4	Â​Ã¢	;	Â​Ã¢	Â​Ã¢	Â​Ã¢	.lasrevsnart	eht	fo	edis	emas	eht	no	eil	selgna	ehT	.1	A	:	Â​Ã¢	ypoC	.______	=	Â​Â​Ã¢	Â​Ã¢	Â​Â​Ã¢	=	Â​Ã¢	fI	d	c	b	a	?elgna	thgiarts	a	fo	erusaem	eht	si	tahW	?ecalp	koot	noitamrofsnart	fo	epyt	tahW	hd	gc	fb	ea	.6	Â¥Â​Ã¢	.tneurgnoc	era	selgna	thgir	llA	meroehT	selgnA	thgiR	thgiR	serap	nos	¢Ã	y	¢Ã	sodaD	?arfic	al	erbos	recah	edeup
senoicavresbo	©ÃuQ¿Â	.ocif¡Ãrg	etneiugis	le	etelpmoC	¥Â¢Ã	y	¥Â¢Ã	:raborP	?o±Ãeuqep	s¡Ãm	olugn¡Ã	led	otnemelpmoc	le	se	l¡ÃuC¿Â	.	​Â​Â¢Ã​Â​Â¢Ã​Â​Â​Â¢Ã​Â​Â¢Ã	oyar	le	rateuqitE	.saen​Ãl	sabma	ed	s©Ãvart	a	ocra	nu	ejubid	y	,	ne	otnup	le	euqoloC	,	y	ertne	aicnatsid	al	ed	datim	al	etnemadamixorpa	a	alujºÃrb	al	ed	ohcna	le	etsujA	.soiratnemelpus	nos	=
​Ã¢Ã2​​â1¿Â¯Ã	,etneiugis	ocif¡Ãrg	le	nE	!ecitcarP	s¢ÃteL	5	solugn​Ã	:2	n³ÃicceS	.olugn¡Ã	________________	)n(	nu	se	2​​â1¿Â¯Ã	¢Ã	.solugn¡Ã	ridem	arap	__________________	nu	somazilitu	odunem	A	solugn¡Ã	ed	n³Ãicacifisalc	y	n³ÃicideM	2	etraP	solugn¡Ã	sol	a	n³ÃiccudortnI	2	oed​ÃV	2	n³ÃicceS	8	solugn​Ã	:2	n³ÃicceS	.seroiretna	sarugif	sal	ne	sovitucesnoc
solugn¡Ã/odal	omsim	le	euqifitnedI	.soiratnemelpus	nos	¢Ã	¢Ã	y	¢Ã¢Ã	euq	rartsomed	arap	ofarr¡Ãp	ed	abeurp	anu	abircsE	.1	senozaR	.1	senoicaralceD	.olugn¡Ã	orto	le	secev	5	edim	olugn¡Ã	nU	.setneidnopserroc	solugn¡Ã	nos	¢Ã	y	¢Ã	.selacitrev	solugn¡Ã	sol	ed	ameroeT	led	olpmeje	nu	euqifitnedI	.E	¢Ã	y	¢Ã	_____	selacitrev	solugn​Ã	.	otcer	oduga
osutbo	o	o	o	o	o	se	olugn¡Ã	,secnotnE	.______________	solugn¡Ã	nos	¢Ã	y	¢Ã	:senoicacidni	setneiugis	sal	etelpmoC	2​​â1¿Â¯Ã	¢Ã	¢Ã	¢Ã	2​​â1¿Â¯Ã	.arugif	al	ed	selaenil	serap	sorto	sol	ertne	olucr​ÃC	2​​â1¿Â¯Ã	2​​â1¿Â¯Ã	2​​â1¿Â¯Ã	.atseupser	us	euqifitsuJ	.sovitanretla	seroiretni	solugn¡Ã	nos	¢Ã	y	¢Ã	.odal	omsim	led	o	sovitucesnoc	seroiretni	solugn¡Ã	nos	¢Ã	y	¢Ã
.arugif	al	ed	sovitanretla	seroiretxe	solugn¡Ã	ed	rap	orto	led	rodederla	ordauc	nu	ajubiD	.arugif	al	ed	sovitanretla	seroiretni	solugn¡Ã	ed	rap	orto	led	rodederla	ordauc	nu	ajubiD	.1	!ABEURP	AL	ETAB¡Â	77	solugn​Ã	:2	n³ÃicceS	____________________________	.1	!ABEURP	AL	ETAB¡Â	46	solugn​Ã	:2	n³ÃicceS	.arugif	etneiugis	al	eredisnoC	!olab©ÃurP¡Â	86
solugn​Ã	:2	n³ÃicceS	_______________	.laenil	rap	nu	nos	¢Ã	y	¢Ã	:odaD	¢Ã	¢Ã	.6	°Â​Ã	=	2​​â1¿Â¯Ã	¢Ã	+	¢Ã	.olugn¡Ã	________________	)n(	nu	se	¢Ã	?selacitrev	solugn¡Ã	ed	otnujnoc	nu	namrof	solugn¡Ã	ed	serap	©ÃuQ¿Â	.	,	​Ì	¢Ã	=	¢Ã	y	,	=	¢Ã	,	¥Â	¢Ã	+	=	¢Ã	,	+	=	¢Ã	euq	al	ne	n³Ãicaunitnoc	a	arugif	Contrary	to	the	value	of	'​​,	'2.	©°	comparten?	1Â	​	2	Â	​	2	Â°	Â	​
2	​	Â	​	2	Â	°	sodautis	setnecayda	solugn¡Ã	nos	​Â	¢Ã	y	​Â	¢Ã	iS	o	.samelborp	revloser	arap	solugn¡Ã	y	saen​Ãl	erbos	sameroet	esu	;solugn¡Ã	y	saen​Ãl	erbos	sameroet	raborP	?olugn¡Ã	led	adidem	al	se	l¡Ãuc¿Â	,oiratnemelpmoc	y	iS	.	½Â¿Â¯Ã	y	½Â¿Â¯Ã	saen​Ãl	sal	ed	roiretni	n³Ãiger	al	ne	nartneucne	es	solugn¡Ã	sobmA	.seroiretna	sarugif	sal	ne	sovitanretla
seroiretxe	solugn¡Ã	sol	euqifitnedI	.olbaP	naS	adinevA	.solugn¡Ã	ed	serap	ed	n³Ãicaunitnoc	a	arugif	al	eredisnoC	12	solugn​Ã	:2	n³ÃicceS	.serolav	setneiugis	sol	rartnocnE	​Â	¢Ã	=	​Â	¢Ã	​Â	¢Ã	+	=	​Â	¢Ã	+	=	​Â	¢Ã	​Â	​Â	¢Ã	=	​Â	¢Ã	hd	gc	fb	ea	?olucr​Ãc	led	adidem	al	se	l¡ÃuC¿Â	.	y	,lasrevsnart	ecurc	ed	salelarap	saen​Ãl	ed	sarugif	setneiugis	sal	eredisnoC	15
solugn​Ã	:2	n³ÃicceS	.sovitucesnoc	seroiretni	solugn¡Ã	ne	n¡Ãtse	sorebmob	ed	otnematraped	le	y	latipsoh	lE	.D	​Â	¢Ã	y	​Â	¢Ã	_____	setneidnopserroc	solugn​Ã	._________________	solugn¡Ã	nanimoned	es	otcer	olugn¡Ã	nu	namrof	sotnuj	euq	sovitisop	solugn¡Ã	soD	.6	meroehT	selgnA	roiretnI	etanretlA	fo	esrevnoC	.	​Ã	​Ã	​Ã	a	ralucidneprep	​Ã	​Ã	​Ã	odneicah	,y
sotnup	ed	s©Ãvart	a	aen​Ãl	ed	otnemges	nu	ejubiD	.	½Â¿Â¯Ã	y	½Â¿Â¯Ã	saen​Ãl	sal	ed	roiretni	n³Ãiger	al	ne	artneucne	es	olugn¡Ã	nU	.arugif	etneiugis	al	eredisnoC	14	solugn​Ã	:2	n³ÃicceS	.	y	,	ed	rolav	le	ertneucnE	?olugn¡Ã	le	erbos	recah	sedeup	senoicavresbo	©ÃuQ¿Â	olugn​Ã	.	​Â	¢Ã	½Â¿Â¯Ã	omoc	somibircse	ol	odunem	a	,sodarg	ne	olugn¡Ã	led
adidem	al	o	o±Ãamat	led	ralbah	somereuq	iS	.	​Ã	​Ã	ojabed	rop	ralimis	ocra	nu	y	,	asap	euq	​Ã	​Ã	​Ã	amicne	rop	ocra	nu	agah	y	otnup	le	ne	alujºÃrb	al	euqoloC	.____________________	solugn¡Ã	namall	es	sotnuj	atcer	aen​Ãl	anu	namrof	euq	sovitisop	solugn¡Ã	soD	4	solugn​Ã	:2	n³ÃicceS	.	½Â¿Â¯Ã	y	½Â¿Â¯Ã	lasrevsnart	etroc	ed	alelarap	aen​Ãl	anu	ed	arugif
etneiugis	al	raredisnoC	seralucidneprep	selasrevsnarT	7	oed​ÃV	​Â	¢Ã	2	n³ÃicceS	06	solugn​Ã	:2	n³ÃicceS	aicneurgnoc	al	ed	avitisnart	dadeiporP	.atcerroc	n³Ãicamrifa	al	a	nednopserroc	on	ocif¡Ãrg	etneiugis	le	ne	​Â	es	euq	senozar	sal	ed	soD	:raborP	.adauceda	s¡Ãm	atseupser	al	¡Ãraborp	on	n³Ãicaunitnoc	a	arugif	al	ne	n³Ãicidnoc	©ÃuQ¿Â	43	43
solugn​Ã	:2	n³ÃicceS	.sovitucesnoc/odal	omsim	led	seroiretni	solugn¡Ã	nos	secnotne	,lasrevsnart	al	ed	odal	omsim	le	ovitisop	eje	le	edsed	edneitxe	es	iS	°Â​Ã	°Â​Ã	?	olugn¡Ã	rarbmon	somedop	euq	seerc	arenam	arto	©Ãuq	eD¿Â	.2	osap	le	ne	odajubid	ocra	le	y	​Â​Â¢Ã​Â​Â¢Ã​Â​Â¢Ã​Â​Â¢Ã	led	n³Ãiccesretni	ed	otnup	le	ne	alujºÃrb	al	euqoloc	,n³Ãicarugifnoc
amsim	al	noC	.5	¥Â¢Ã	.ojaba	ed	ocif¡Ãrg	le	atelpmoC	​​â	¢Ã	:raborP	°Â​Ã	=	¢Ã2​​â1¯Ã	+	¢Ã2​​â1¿Â¯Ã	.ocif¡Ãrg	etneiugis	le	etelpmoC	¦​â	¢Ã	2​​â1¿Â¯Ã	°Â​Ã	=	2​​â1¿Â¯Ã	¢Ã	+	¢Ã	¥Â¢Ã	:raborP	:odaD	75	solugn​Ã	:2	n³ÃicceS	=	¢Ã+	¢Ã	¦Â¢Ã	=	¢Ã+	¦Â¢Ã	acraM	?otcer	o	osutbo	,otcerroc	,oduga	sE¿Â	.sadilas	omoc	sotnup	sorto	nad	y	sadartne	omoc	onalp	le	ne
sotnup	namot	euq	senoicnuf	omoc	senoicamrofsnart	ribircsed	;a​Ãrtemoeg	ed	erawtfos	y	saicnerapsnart	,olpmeje	rop	,odnazilitu	onalp	le	ne	senoicamrofsnart	ratneserpeR	.laeniL	raP	ed	odalutsoP	led	olpmeje	nu	acifitnedI	°Â​Ã	°Â​Ã	°Â​Ã	°Â​Ã	°Â​Ã	°Â​Ã	°Â​Ã	°Â​Ã	°Â​Ã	.roiretna	arugif	al	ne	sosutbo	solugn¡Ã	sol	arbmoN	.____________	olugn¡Ã	nu	namrof
solugn¡Ã	sol	,sotnuJ	.setneurgnoc	nos	¢Ã	y	¢Ã	secnotne	,olugn¡Ã	omsim	led	sotnemelpus	nos	¢Ã	y	¢Ã	¢Ã	iS	setneurgnoC	sotnemelpuS	ed	ameroeT	.ojaba	ed	arugif	al	eredisnoC	54	solugn​Ã	:2	n³ÃicceS	.	?laenil	rap	nu	ed	amus	al	ed	adidem	al	se	l¡ÃuC¿Â	.dvlB	sotnaS	y	.senoicamrofsnart	ortauc	satse	ed	areiuqlauc	ed	s©Ãupsed	salelarap	n¡Ãrecenamrep
salelarap	saen​Ãl	sal	,otnat	ol	roP	?atcerroc	se	n³Ãiccurtsnoc	artseun	euq	rartsomed	arap	razilitu	somedop	salelarap	saen​Ãl	sal	a	ovitaler	ameroet	©ÃuQ¿Â	aen​Ãl	odnaerc	,	y	.seroiretna	sarugif	sal	ed	sovitanretla	seroiretni	solugn¡Ã	sol	ed	onu	adac	racifitnedI	°Â​Ã	°Â​Ã	°Â​Ã	¢Ã	2​​â1¿Â¯Ã	°Â​Ã	°Â​Ã	°Â​Ã	°Â​Ã	°Â​Ã	25	solugn​Ã	:2	n³ÃicceS	.6	.3	sovitucesnoc
solugn¡Ã	ed	ameroeT	.salelarap	saen​Ãl	sod	ed	lasrevsnart	ecurc	nu	ed	arugif	etneiugis	al	eredisnoC	salelarap	y	selasrevsnart	saen​Ãl	rop	sodamrof	solugn¡Ã	ed	serap	ed	selaicepse	sopiT	6	oed​ÃV	2	n³ÃicceS	05	solugn​Ã	:2	n³ÃicceS	laenil	ajeraP	?laenil	rap	nu	nemrof	solugn¡Ã	sod	euq	acifingis	©ÃuQ¿Â	y	+	=	.	2​​â1¿Â¯Ã	y	2​​â1¿Â¯Ã	saen​Ãl	sal	ed	roiretni
n³Ãiger	al	ne	n¡Ãtse	solugn¡Ã	soL	2​​â1¿Â¯Ã	¢Ã	2​​â1¿Â¯Ã	2​​â1¿Â¯Ã	.otnemelpmoc	us	euq	royam	secev	ortauc	se	olugn¡Ã	nu	ed	adidem	aL	!acitcarP¡Â	lightning	that	make	the	angle	​°,	establish	and	solve	an	equation	³	suitable	for	and	.	4.1.	Test:	Â¢	Â	÷	Â	ed	onalp	led	III	etnardauC	le	ne	arugif	aL	!ecitcarP	s​Â¢ÃteL	96	solugn​Ã	:2	n³ÃicceS	al	ed	s©Ãupsed
euq	rartsomed	,°Â​Ã	.4	oiratnemelpuS	ed	n³ÃicinifeD	?arugif	al	erbos	recah	edeup	senoicavresbo	©ÃuQ¿Â	2​​â1¿Â¯Ã	¢Ã	2​​â1¿Â¯Ã	2​​â1¿Â¯Ã	._______________	olugn¡Ã	nu	se	olucr​Ãc	ed	otrauc	nU	?	»Ây«Â	erbos	recah	sedeup	senoicavresbo	©ÃuQ¿Â	.3	.enileC	ed	etrap	rop	rorre	yah	oN	?olugn¡Ã	adac	edim	©ÃuQ¿Â	?soiratnemelpmoc	nos	solugn¡Ã	©ÃuQ¿Â
.selacitrev	solugn¡Ã	nos	?arugif	al	erbos	recah	sedeup	senoicavresbo	©ÃuQ¿Â	2​​â1¿Â¯Ã	2​​â1¿Â¯Ã	2​​â1¿Â¯Ã	.________________________	solugn¡Ã	y	______________	solugn¡Ã	nos	¢Ã	y	¢Ã	?solugn¡Ã	ed	arodavresnoc	n³Ãicamrofsnart	anu	aes	ogla	euq	acifingis	euq	seerc	©ÃuQ¿Â	?solugn¡Ã	sotse	ed	riced	sedeup	©ÃuQ¿Â	.sonretla	seroiretxe	solugn¡Ã	ne	n¡Ãtse
euqrap	le	y	acetoilbib	aL	.5	n³ÃicutitsuS	.ridem	somereuq	euq	olugn¡Ã	led	ecitr©Ãv	le	noc	rodatropsnart	led	esab	al	ne	lartnec	acram	al	somaenila	,olugn¡Ã	nu	ridem	araP	.6	+	¢Ã	.olugn¡Ã	led	aipoc	al	ratelpmoc	arap	oyar	led	lanif	otnup	le	atsah	otnup	etse	edsed	av	euq	aen​Ãl	al	ajubiD	.5	.	otnup	le	odnamrof	,roirepus	ocra	led	s©Ãvart	a	ocra	nu	ejubid
y	oyar	le	azurc	roirepus	ocra	le	ednod	atsah	alujºÃrb	al	aveum	,saen​Ãl	sod	sal	azurc	roirefni	ocra	le	ednod	aicnatsid	al	a	alujºÃrb	al	ed	ohcna	le	etsujA	.n³Ãicaunitnoc	a	sarugif	sal	eredisnoC	33	solugn​Ã	:2	n³ÃicceS	?	​Ì	¢Ã	ed	n³Ãiccudart	anu	ed	s©Ãupsed	​Ì	¢Ã	noc	setneurgnoc	nos	solugn¡Ã	©ÃuQ¿Â¿Â¯Ã	2​​â1¿Â¯Ã	2​​â1¿Â¯Ã	.sodarg	ne	¢Ã¢Ã	y	¢Ã¢Ã	ed
adidem	al	y	¢Ã	solugn¡Ã	soL	?omsilelarap	avreserp	n³Ãicamrofsnart	aL¿Â	.B	.	¢Ã¢Ã	olugn¡Ã	le	eteuqitE	.2	83	solugn​Ã	:2	n³ÃicceS	?	¢Â	¢Ã	y	,	¢Â	¢Ã	,	¢Â	¢Ã	¢Ã	ed	serolav	sol	nos	sel¡ÃuC¿Â	?2​​â1¿Â¯Ã	»Ây«Â	erbos	savresbo	?recah	edeup	©ÃuQ¿Â	2​​â1¿Â¯Ã	¢Ã	¢Ã	.oediv	etse	ne	senoiccurtsnoc	sert	recah	a	rednerpa	a	somaV	salelarap	y	seralucidneprep
,solugn¡Ã	ed	senoiccurtsnoC	9	oediV	​Ì	¢Ã	2	n³ÃicceS	47	y	_______	=	​Ì	¢Ã	h	g	f	e	solugn​Ã	:2	n³ÃicceS	secnotne	,	=	​Ì	¢Ã	y	.atcer	al	a	ralucidneprep	otnup	led	s©Ãvart	a	atcer	anu	riurtsnoc	ed	³Ãtart	enileC	.n³Ãicaunitnoc	a	arugif	euq	ocif¡Ãrg	le	ne	3	y	2	senozar	ne	ne	arugif	al	ed	n³Ãicamrofsnart	anu	se	ojaba	II.	2.	Reflect	the	image	below	across	=	.	These
adjacent	angles	are	called	a	_____________	pair.	The	intersection	of	line	¯Ã¿Â½Â	with	¯Ã¿Â½Â	and	¯Ã¿Â½Â	forms	eight	angles.	The	angle	between	the	shaft	and	the	toe	of	the	hockey	stick	Is	labeled	as	angle	.	a	b	c	d	e	f	g	h	What	type	of	transformation	took	place?	Alternate	Exterior	Angles	Theorem:	If	two	parallel	lines	are	cut	by	a	transversal,	the
alternate	exterior	angles	are	congruent.	What	is	the	measure	of	the	complement?	¯Ã¿Â½Â	¢Ã​Â​Â	¯Ã¿Â½Â	2.	Consider	the	figure	to	the	right,	and	complete	the	proof	of	the	Perpendicular	Transversal	Theorem.	¢Ã​Â	Â	¢Ã​Â	Â	¢Ã​Â	Â	Use	the	figure	to	answer	the	following	questions.	An	angle	that	measures	greater	than	​Ã°Â	is	_______________.	Definition	of
perpendicular	lines	4.	An	angle	that	measures	exactly	An	angle	of	exactly	An	angle	greater	than	Reflex	​Ã°Â	but	less	than	​Ã°Â	is	_______________.	¢Ã​Â	Â	¢Ã​Â​Â	¢Ã​Â	Â¯Ã¿Â½Â	4.	Section	2:	Angles	35	Let¢Ã​Â​Âs	Practice!	Consider	the	figure	below.	The	church	is	at	an	exterior	angle	and	it	forms	a	linear	pair	with	both	the	library	and	the	school.	Given	¢Ã​Â	Â
and	¢Ã​Â	Â	are	a	linear	pair.	¢Ã​Â	Â	and	¢Ã​Â	Â	are	supplementary.	Alternate	Interior	Angles	_____	¢Ã​Â	Â	and	¢Ã​Â	Â	B.	¢Ã​Â	Â	=	​Ã°Â	8.	¯Ã¿Â½Â	¯Ã¿Â½Â	¢Ã​Â​Â	¯Ã¿Â½Â	Circle	the	other	pairs	of	vertical	angles	in	the	figure.	Place	the	point	of	the	compass	on	point	,	and	draw	an	arc	that	crosses	​Ã​Â​Ã​Â​Ã​Â​Ã​Â	twice.	​Ã°Â	is	called	a	____________	angle.	Circle
those	two	reasons.	Congruent	Supplement	Theorem	Right	Angles	Theorem	Congruent	Complement	Theorem	Linear	Pair	Postulate	Reasons	Statements	1.	Label	that	point	.	Section	2:	Angles	15	Match	each	of	the	following	words	to	the	most	appropriate	figure	represented	below.	Section	2:	Angles	6	In	the	figure	below,	¯Ã¿Â½Â¢Ã​Â	Â	=	¢Ã​Â​Â	and
¯Ã¿Â½Â¢Ã​Â	Â	=	+	.	Section	2:	Angles	23	Let¢Ã​Â​Âs	Practice!	Consider	the	figure	below.	¯Ã¿Â½Â	¢Ã​Â​Â	¢Ã​Â​Â	​Ã°Â	​Ã°Â	​Ã°Â	​Ã°Â	+	​Ã°Â	¯Ã¿Â½Â	Angles	measures	are	represented	by	algebraic	expressions.	Which	part	of	the	figure	do	you	think	would	be	considered	the	exterior?	In	which	iS	o	.1	A	B	P	adad	aen​Ãl	al	a	olelarap	:​Ã	​Ã	​Ã	otnemges	led	s©Ãvart
a	aen​Ãl	ed	otnemges	nu	riurtsnoC	!olab©ÃurP¡Â	67	solugn​Ã	:2	n³ÃicceS	.2​​â1¿Â¯Ã	aen​Ãl	al	rop	nazurc	es	2​​â1¿Â¯Ã	y	2​​â1¿Â¯Ã	saen​Ãl	saL	.4	​Ì	​Ì	​Ì	​Ì	​Ì	​Ì	.	olugn​Ã	,​Ì	​Ì	¢Ã2​​â1¿Â¯Ã	y	​Ì	¢Ã2​​â1¿Â¯Ã	ed	amus	al	somerbmoN	.olugn¡Ã	oveun	led	soyar	sod	sol	ed	onu	ne	¡Ãritrevnoc	es	euq	oyar	nu	ajubiD	?soiratnemelpmoc	¢Ã	y	¢Ã	nos¿Â	,	=	iS	¢Ã	¢Ã	¢Ã	.setnecayda
solugn¡Ã	ed	arugif	etneiugis	al	eredisnoC	02	solugn​Ã	:2	n³ÃicceS	.	+	=	2​​â1¿Â¯Ã	¢Ã2​​â1¿Â¯Ã	¢Ã2​​â1¿Â¯Ã	¢Ã2​​â1¿Â¯Ã	,selaenil	serap	nos	2​​â1¿Â¯Ã	¢Ã	y	¢Ã	.	¢Ã2​​â1¿Â¯Ã	¬Â	¢Ã	¢Ã	y	¢Ã¢Ã2​​â1¿Â¯Ã	¢Ã	¢Ã	42	solugn¡Ã	soL	:2	n³ÃicceS	.setneurgnoc	nos	¢Ã	¢Ã	y	¢Ã¢Ã	euq	rartsomed	arap	ofarr¡Ãp	ed	abeurp	anu	ebircsE	.	y	selasrevsnart	rop	sodatroc	y
solelarap	nos	y	ednod	,ojabed	rop	.	2​​â1¿Â¯Ã	y	2​​â1¿Â¯Ã	saen​Ãl	sal	ed	roiretxe	n³Ãiger	al	ne	n¡Ãtse	solugn¡Ã	soL	2​​â1¿Â¯Ã	2​​â1¿Â¯Ã	¢Ã	2​​â1¿Â¯Ã	2​​â1¿Â¯Ã	.II	etnardauc	led	arugif	al	ed	n³Ãicamrofsnart	anu	se	roirefni	sadanedrooc	ed	onalp	led	VI	etnardauc	led	arugif	aL	!olab©ÃurP¡Â	07	solugn​Ã	:2	n³ÃicceS	.n³Ãicamrofsnart	al	ed	s©Ãupsed	______________
y	___________________________	navreserp	euq	n³Ãicatalid	al	y	n³Ãicator	al	,n³Ãicalsart	al	,n³Ãixelfer	al	a	nereifer	es	solugn¡Ã	ed	sarodavresnoc	senoicamrofsnart	saL	66	solugn​Ã	:2	n³ÃicceS	.2	¥Â¢Ã	.lasrevsnart	al	ed	sotseupo	sodal	ne	n¡Ãtse	solugn¡Ã	soL	.2	37	solugn​Ã	:2	n³ÃicceS	oiratnemelpus	o	etneidnopserroc	o	etneurgnoc	o	.	olugn¡Ã	le	euq	royam
sodarg	02	se	olugn​Ã	!olab©ÃurP¡Â	7	solugn​Ã	:2	n³ÃicceS	.A	¢Ã	y	¢Ã	¢Ã	_____	.)2​​â1¿Â¯Ã	y	2​​â1¿Â¯Ã(	saen​Ãl	sod	sarto	atcesretni	euqrop	,___________________	al	amall	es	2​​â1¿Â¯Ã	aen​Ãl	aL	.laenil	rap	nu	namrof	¢Ã	y	¢Ã	?salelarap	nos	sotnemges	setneiugis	sol	ed	saen​Ãl	©ÃuQ¿Â	!s¢ÃteL	acitc¡ÃrP¡Â	45	solugn​Ã	:2	n³ÃicceS	?arugif	al	erbos	recah	edeup
senoicavresbo	©ÃuQ¿Â	2​​â1¿Â¯Ã	.soiratnemelpmoc	nos	¢Ã	y	¢Ã	:odaD	¢Ã	¢Ã	¢Ã	.albat	al	ratelpmoc	arap	n³Ãicaunitnoc	a	senozar	ed	ocnab	le	ecilitU	lacitrev	olugn¡Ã	led	ameroet	lE	:raborP	.2	osap	le	atiper	y	otnup	le	ne	alujºÃrb	al	euqoloc	,2	osap	le	ne	euq	aruhcna	amsim	al	a	alujºÃrb	al	odneinetnaM	?³Ãcoviuqe	eS¿Â	,	Ã	¢,	Ã	¢	y	y	They	are	among	the
non-parallel	lines,	then	they	are	indoor	Ángles.	Section	2:	Ã	ngulos	26	Section	2	Ã	¢	â	€	Video	4	pairs	of	Ã	¢	â	€	Ã	"Part	2	Consider	the	following	figure.	Make	a	conjecture	on	the	one	by	which	the	figure	of	the	second	quadrant	of	the	bottom	coordinate	plane	was	transformed	into	the	figure	of	the	first	quadrant.	Draw	a	line	segment	through	a	segment
of	points	that	is	parallel	to	Ãœ	Ãœ	Ãœo.	Theorem	of	corresponding	Ángles:	If	two	parallel	lines	are	cut	by	a	transversal,	the	corresponding	Ángles	are	congruent.	We	call	Ã	¢	Âƒ	Âƒ	Âƒ	Âƒ	Âƒ	Âƒ	Âƒ	Âƒ	Âƒ	Âƒ	Âƒ	Âƒ	Âƒ	This	will	create	two	arches	that	cross	at	a	point.	Adjust	your	lean	to	the	distance	of	one	of	the	points	of	intersection	of	the	arc	and	Ã	¢	â	and
the	other	intersection	point	of	the	arc	and	Ã	â	€.	Section	2:	Ã	NGULOS	71	Consider	the	figure	again	and	the	statements	below.	Â	°	is	__________________.	A	transversal	that	cuts	two	parallel	lines	forming	straight	vernugules	is	called	a	transversal	________________.	Section	2:	Ã	NGULOS	16	LetÃ	¢	â	€	en	Â	™	Practice!	Use	the	following	figure	to	fill	in	the
blanks	that	define	the	Ã	Ã	Ã¯Â½	Ã	Ã¡½â½â½â½â½	Ã	â	€	¢	Ã	â½â½â½	Ã	â	€	¢	Ã	¢	Ã¯Â½	â	€	¢	Ã	â½â½	as	acute,	obtuse,	right	or	straight.	Ã	¢	â	and	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	"	Ã¯ÂÂ½	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	â	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	"Name	Â	Ž	Acute	Ángles	in
the	previous	figure.	ABCDEFGH	part	A:	The	figure	was	as	dilated	or	rotated	or	reflected	or	translated	Part	B:	Ã	¢	â	€	is	or	through	the	axis	-Oa	of	the	axis-or	around	the	origin	or	by	a	factor	of	scale	of	Ã	¢	Sixteen	units	to	the	right	or	complementary	of	Ã	¢	Â.	Ã	Ã	Ã	Ã	Ã	œWhat	can	you	see	about	Ã	¢	Ã	¢	â?	Section	2:	Ã	NGULOS	19	Section	2	Ã	¢	â	Video
3	pairs	of	Ã	¢	â	€	"Part	1	Consider	the	next	figure	that	has	a	pair	of	Ángles.	How	much	degrees	is	half	a	circle?	Videos	of	this	video	section	1:	video	2:	video	3:	video	4:	video	5:	video	6:	video	7:	video	8:	video	9:	Introduction	to	the	hangles	Ã	¢	â	€	œ	2	2	etraP	​Â	¢Ã	solugn¡Ã	ed	seraP	1	etraP	​Â	¢Ã	solugn¡Ã	ed	seraP	2	etraP	​Â	¢Ã	solugn¡Ã	sol	a
n³ÃiccudortnI	1	Â​Â​Â​	​	​	​	​	​	​	​	​	​	​	​	​	​	​	​	​	​ÃÃ¢	Â¿Ã¿Ã	R	Â	Â°Ãτ	Â°ÃΤΓ=	Â	Â	ÂΤ¢	Â°Ãτ	⟨Â¿Ã¥Â¥Â¥ÂΤ¢	ÂΓÂ¿Â¿Ã	⇒	Â¿Ã	Ζ	.tneurgnoc	era	ÂτÃ¢	dna	Â	ÂΤ¢	.3	yratnemelpmoc	:	Â	Â​Ã¢	dna	Â​Ã¢	?	Â​Ã¢	dna	Â	Â​Ã¢	tuoba	verresbo	uoy	nac	tahW	Â	Â​	​	​	​	​	​	​	​	​	​	​	​	​	​	​	​	​	​	​	​	​	​Ã¢	Â	Â	cra	ralimis	a	ward	dna	,	tniop	no	ssapmoc	eht	ecalp	,gnittes	emas	eht	gnisU	.3	elgna	thgir	a	si	Â	3
selgnA	:2	noitceS	.____________________________________________________________________________	___	a	mrof	osla	yehT	.woleb	serugif	eht	redisnoC	snoitamrofsnarT	gnivreserP-elgnA	8	oediV	ÂΤΤ2	noitceS	56	selgnA	:2	noitceS	seniL	ralucidnepreP	fo	noitinifeD	.evA	nauJ	naS	neewteb	pihsnoitaler	eht	tuoba	edulcnoc	uoy	nac	tahw	,mero	ehT	lasrevsnarT
ralucidnepreP	eht	gnisU	?mra	eht	dna	eci	eht	neewteb	elgna	eht	tuoba	yas	uoy	nac	tahW	ÂΤΤΟΕ	.3	neviG	.lemraC	.tM	lasrevsnart	yb	dessorc	senil	lellarapnon	era	.dR	ytiC	yaB	dna	?tneurgnoc	era	selgna	hcihW	.Â°Ã→elht	ot	dda	riap	raenil	a	fo	sedis	eht	neewteb	syar	yb	demrof	selgna	fo	strap	eht	esuaceb	,elgna	eht	fo	sedis	eht	htiw	deriap	srebmun
laer	eht	fo	ecnereffid	eht	fo	eulav	etulosba	eht	si	elgna	eht	fo	erusaem	ehT	etalutsoP	rotcartorP	ehT	41	selgnA	:2	noitceS	Â	ÂΤ¢	ÂΕ¢	Â°ÃΤΟ	etreV	elgna	fo	erugif	eht	redisnoC	1	traP	Â³Γ¢	selgnA	ot	noitcudortnI	1	oediV	ÂτÂ⌦Ã¢	2	noitceS	2	selgnA	:2	noitceS	snoitcurtsnoC	slasrevsnarT	dna	seniL	lellaraP	snoitamrofsnarT	gnivreserP-elgnA	slasrevsnarT
ralucidnepreP	seniL	lellaraP	dna	slasrevsnarT	yb	demroF	sriaP	elgnA	seniL	lellaraP-noN	dna	slasrevsnarT	yb	demroF	sriaP	Â	°	Identify	the	corresponding	Ángles	in	the	previous	figures.	Consider	the	same	figure	as	in	the	previous	question.	What	measures	each	angle?	Given:	Â	¢	Ã	Â	¢	Ã	Â	Ã	¢	Ã	¢	Ã¯Â¿Â½	and	Â	¥	Â	Ã	¢	Ã¯Â¿Â½	at.	Copy	a	segment;
Copy	an	angle;	bisectar	a	segment;	Beslectar	an	angle;	Construction	of	perpendicular	lines,	including	the	perpendicular	bisector	of	a	line	segment;	And	build	a	parallel	line	to	a	line	given	through	a	point	not	on	the	line.	The	school	is	in	a	corresponding	angle	with	the	park	and	a	consecutive	inner	angle	with	the	police	department.	What	are	the
measures	of	Ã	â	€	œ	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	¢	â?	=	=	=	Ã	¢	â	=	Ã	¢	Â	=	Section	2:	Ã	NGULAS	72	Beat	the	test!	1.	Create	an	arc	that	intersects	both	rays	of	Ã	â	€.	Ã	¢	Â	=	4.	Ã¯Â¿Â½	Â	¢	Ã	Â	¢	Ã	Â	¢	Ã	Â	¢	Ã	©	What	observations	can	do	about	it	¢	Â	Â	and	Ã	¢?	Transcription	Section	2:	Ã	NGULOS	In	this
section,	the	following	Florida	Mathematics	Standards	will	be	treated:	Mafs.912.g-Co.1.1	Mafs.912.g-Co.1.2	Mafs.912.g-	CO.1.4	MAFS.912.G-CO.3.9	Defits	accurate	angle,	circle,	perpendicular	line,	parallel	line	and	line	segment,	based	on	indefinite	notions	of	point,	line,	distance	along	a	line	and	Distance	around	a	circular	arc.	What	is	the	measurement
of	Ã	â	€	™?	Find	the	measures	of	Ã	¢	Ã¯ÂÂ½	Ã¯Â½Â½	Ã¯Â½Â½,	and	justify	your	answers.	Section	2:	Ã	ngulos	37	beat	the	test!	1.	Ã	¢	Ã	¢	â	and	Ã	¢	Ã	¢	are	linear	pairs.	Part	A:	Ã¯Â¿Â½	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã¯ÂÂ½	=	Ã	¢	â	'and	part	c:	Yes	Ã	¢	Ã¯Â¿	Â½	Ã¯ÂÂ½	and	Ã	Ã	Ã	Ã	Ã	Ã	Ã	¢	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã	Ã¯ÂÂ½	Ã¯ÂÂ½	=	+,	find	the	value	of?
Why	do	you	think	we	draw	a	bow	to	show	the	angle?	Conversion	of	the	theorem	of	consecutive	vernals	on	the	same	side:	If	two	lines	are	cut	by	a	cross-sectional	and	the	interior	Ángles	on	the	same	side	of	the	transversal	are	supplementary,	the	lines	are	parallel.	Shoulder!	Ã	¢	â	and	Ã	¢	Ã	¢	are	complementary.	Ã¯ÂÂ½	Ã¯ÂÂ½Â½	demonstrate	that	he	al
al	y	lasrevsnart	anu	rop	sadatroc	nos	saen​Ãl	sod	iS	:setneidnopserroc	solugn¡Ã	sol	ed	ameroeT	led	n³ÃisrevnoC	.arugif	etneiugis	al	eredisnoC	!olab©ÃurP¡Â	The	Ángles	are	congruent,	the	lines	are	parallel.	Ã	¢	and	Ã	¢	are	a	linear	pair.	FIGURE	A	FIGURE	B	Ã¡¯ÂÂ½	Ã¯Â½	Ã¯Â½	Ã¡½	Ã¡½	Ã¡½	Ã	Ã¡½	Ã	Ã¡½	Ã	Ã	Ã¡½	Ã	Ã¡½	Ã	Ã¡½	Ã¯Â½	â½	Å	Ã	Ã	Ã¡½
Ã¡½	Ã¯Â½	â½	Å	Å	SECTION	2:	Ã	NGULOS	47	Place	the	buildings	on	the	map	by	meeting	the	following	conditions:	the	park	and	the	city	building	form	a	linear	pair.	or	if	they	are	on	the	opposite	sides	of	the	transversal,	so	they	are	alternative	outer	ventures.	Ã,	=	Ã,	=	Ã,	=	Ã,	=	Section	2:	Ã	NGULOS	59	2.	St.	The	city	hired	to	the	city's	geometry	to	plan
where	certain	buildings	will	be	built	and	located	on	the	map.	Section	2:	Angles	62.Practice!	Ã¡½Â½	Ã¯ÂÂ½Â½	given:	Ã¯Â¿Â½	Ã	Ã	Ã	Ã	Ã¯ÂÂ½Â½,	Ã¯Â¿Â½	Ã	Ã	Ã¯ÂÂ½Â½,	Ã¯Â	Â½	Ã	Â½	Ã	Â½	Â½	Â	©	Â	¥	Ã¯Â¿Â½	shows:	Ã¯Â¿Â½	''	''	Ã¯Â¿Â½	Ã¯Â¿Â½	complete	the	next	paragraph	test.	Converting	the	theorem	of	alternative	outer	ventles:	If	two	lines
are	cut	down	by	a	transversal	and	alternative	outer	ventles	are	congruent,	the	lines	are	parallel.	Section	2:	Angles	56	Â	©	Balo!	Consider	the	following	figure.	below.	
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